Correct or Incorrect? v or X

6|2 818 6314 4 1[5

- 43 — 315 -3 5[4 — 1{2/4

25 53 320 29 1
For the incorrect examples, explain the mistakes.

Extend

/ 8 398 6

-3 -2 - 1012 -2 |4
50 37 1 46 524

The hardest questions is... because...
Extend: Make your own missing digif subfraction question.

Correct or Incorrect? v or x
6|2 818 6314 4 1|5

- 43 - 3|5 -3 5]4 - 112]4
25 53 320 291
For the incorrect examples, explain the mistakes.

Extend

/ 3 308 6

-3 -1 12 - 1112 -2_|4
50 37 146 524

The hardest questions is... because...
Extend: Make your own missing digit subfraction question.



